SRR

KEF AL

=12
L2

F 10352k %

3 v
4

It Kk

iR

2EY - 2T RART VI T RTER A

E I

- #F %

SETHRHE
1 RS R

ik 5
Tu— ﬁ”ﬁﬂfg?\g

N N

s lﬁlt

IJg_,_I:tN U[ﬁ[ﬁ&/ o

T L

IFTHRE <

i

W R e HRES

R RS e RS I s R
|~JEJ7i‘i °

SR R PGS A

I VR AR I E R

K- ﬁ'F’}'@ﬁIU[ﬁ[M/ °

I SO o S R P S 2 R

BN ﬁlﬁlﬁpfj,ﬁ;@ °

A PR

o AR PR

& #

S it REVER & ZAmp L s
X
TEYE
- | 1/21-1/27 1-1 = ~- %3 428 PN
WA R %
VEREE T b
= | 23201 1-1 = ~- =3 f25¢ SNLE 2;,2; feear
iz |
- 3/3-3/44 &5
CE¥E G - Sy Y
= 3/2-3/6 1-2 f3= ~— 8= > 4250 EANLE
CE RIS
vERwE
® 3/9-3/13 1-2 3= ~— == 3 fgh N
CE S
vERwE
I 3/16-3/20 1-3 & * R 4E o TE
)~
CEYF 3
2 3/23-3/27 2-1 & & LT G o~ TE
WS
CEEY E s 3 (4/1-4/2
= 3/30-4/3 2-1 ¥ & LT g hos TE |5 STl
LA RISk |4/3 21 SATTER
FTaRT
TER W é ~ 3t
A 4/6-4/10 2-2 = - =2 AN R A hos TEE /B R




1 4/13-4/11

- 3 AR ;—ﬁ}ig]qi

-+ 4/20-4/24

3-1 &30

-+ - 4/27-5/1

3-2 i b

4/30-5/1 4 #2

%z :;'CZ"EF ‘%7

= | 5/45/8 | 3-2 @it b]~3-3 LB R N
AP
CEEE |
+= | 5/11-5/15 3-3 potgE L gy ex . [D129/13

bl

- 5/18-5/22

43 | 5/25-5/29 4-2 &) S Hedr S Hc D) NS
AR %
vERwE

L 6/1-6/5 4-2 A & B S0 BB DS o P
AR %
TERYE

L= | 6/8-6/12 5-1 f&a— ~- =7 & 3 e e
S

- 6/15-6/19

5-1 - ~- =7 %3

6/19 &4 G4 T

-4 6/22-6/26

5-2 -

SRl N - S )

6/26-6/29

N o

-+ 6/29-7/3

5-2 -

R E T &

AP ¥ 1

FEAREA

o N\
_“5{;,43

<>

<>

i g

pE e

AR 50% > x A= 40% ) F 0 40%1FE » 20% 5 B

=L
b a2 g 50% o




7
i¥

F’ ‘/‘i B

g E2

. 2 N 2 .7:
F > - - 7
7
g {H—*) #| 13 .1"”»7% 1:,\. E% o
f/ R
33
-
33 E,‘
[
- .,‘
7
4 i
=
&
;Lﬁ




